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+ 22 arctan 1

34522
+ 22 arctan 1

106007

π

4
= 139 arctan 1

239
+ 88 arctan 1

307
− 56 arctan 1

682

− 44 arctan 1

5357
+ 68 arctan 1

12943
+ 88 arctan 1

39307

π

4
= 95 arctan 1

239
+ 132 arctan 1

307
− 12 arctan 1

682

− 44 arctan 1

2482
− 44 arctan 1

3671
+ 68 arctan 1

12943



25

π

4
= 95 arctan 1

239
+ 132 arctan 1

307
− 56 arctan 1

682

+ 88 arctan 1

2332
− 44 arctan 1

6948
+ 112 arctan 1

12943

π

4
= 95 arctan 1

239
+ 132 arctan 1

307
− 12 arctan 1

682

− 44 arctan 1

1902
− 44 arctan 1

6687
+ 68 arctan 1

12943

π

4
= 95 arctan 1

239
+ 132 arctan 1

307
− 56 arctan 1

682

+ 44 arctan 1

1607
+ 44 arctan 1

5928
+ 68 arctan 1

12943

π

4
= 95 arctan 1

239
+ 176 arctan 1

307
− 56 arctan 1

682

− 88 arctan 1

800
+ 68 arctan 1

12943
+ 44 arctan 1

29718

π

4
= 27 arctan 1

239
+ 132 arctan 1

307
+ 136 arctan 1

568

− 12 arctan 1

19703
+ 56 arctan 1

27823
+ 56 arctan 1

34522



26

π

4
= 27 arctan 1

239
+ 132 arctan 1

307
+ 136 arctan 1

568

+ 56 arctan 1

12238
− 68 arctan 1

19703
+ 112 arctan 1

58911

π

4
= 83 arctan 1

239
+ 132 arctan 1

307
− 32 arctan 1

568

+ 112 arctan 1

1568
− 56 arctan 1

6107
+ 44 arctan 1

19703

π

4
= 27 arctan 1

239
+ 132 arctan 1

307
+ 80 arctan 1

568

+ 112 arctan 1

1123
+ 44 arctan 1

19703
− 56 arctan 1

160590

π

4
= 83 arctan 1

239
+ 76 arctan 1

307
+ 80 arctan 1

568

+ 56 arctan 1

1113
− 12 arctan 1

19703
+ 56 arctan 1

4180652

π

4
= 95 arctan 1

239
+ 64 arctan 1

307
+ 68 arctan 1

515

+ 136 arctan 1

3323
+ 56 arctan 1

12238
+ 112 arctan 1

58911



27

π

4
= 39 arctan 1

239
+ 176 arctan 1

307
+ 12 arctan 1

515

+ 56 arctan 1

1068
− 88 arctan 1

3323
− 56 arctan 1

173932

π

4
= 95 arctan 1

239
+ 176 arctan 1

307
− 44 arctan 1

515

− 56 arctan 1

682
− 88 arctan 1

3323
+ 112 arctan 1

12943

π

4
= 39 arctan 1

239
+ 144 arctan 1

307
+ 32 arctan 1

447

+ 68 arctan 1

1068
+ 44 arctan 1

2309
− 56 arctan 1

48737

π

4
= 27 arctan 1

239
+ 132 arctan 1

307
+ 68 arctan 1

443

+ 68 arctan 1

813
+ 56 arctan 1

12238
+ 44 arctan 1

58911

π

4
= 83 arctan 1

239
+ 88 arctan 1

307
+ 56 arctan 1

418

+ 68 arctan 1

4193
+ 44 arctan 1

39307
+ 56 arctan 1

333367



28

π

4
= 27 arctan 1

239
+ 132 arctan 1

307
+ 68 arctan 1

392

+ 68 arctan 1

1068
+ 56 arctan 1

12238
+ 44 arctan 1

58911

π

4
= 139 arctan 1

239
+ 44 arctan 1

301
+ 32 arctan 1

682

+ 112 arctan 1

12943
+ 88 arctan 1

32807
− 44 arctan 1

70543

π

4
= 95 arctan 1

239
+ 88 arctan 1

294
+ 32 arctan 1

682

+ 88 arctan 1

2322
+ 68 arctan 1

12943
− 44 arctan 1

29718

π

4
= 51 arctan 1

239
+ 132 arctan 1

294
+ 32 arctan 1

682

+ 44 arctan 1

905
+ 88 arctan 1

3957
+ 68 arctan 1

12943

π

4
= 95 arctan 1

239
+ 88 arctan 1

294
+ 44 arctan 1

515

+ 32 arctan 1

682
− 88 arctan 1

1929
+ 24 arctan 1

12943



29

π

4
= 71 arctan 1

239
+ 112 arctan 1

293
+ 44 arctan 1

616

+ 132 arctan 1

3141
− 32 arctan 1

12238
− 64 arctan 1

13443

π

4
= 39 arctan 1

239
+ 144 arctan 1

293
+ 44 arctan 1

616

+ 64 arctan 1

2682
+ 100 arctan 1

3141
+ 32 arctan 1

8827

π

4
= 71 arctan 1

239
+ 112 arctan 1

293
+ 12 arctan 1

616

+ 64 arctan 1

1432
+ 132 arctan 1

3141
− 32 arctan 1

265842

π

4
= 39 arctan 1

239
+ 144 arctan 1

293
+ 12 arctan 1

616

+ 64 arctan 1

807
+ 100 arctan 1

3141
+ 32 arctan 1

246147

π

4
= 7 arctan 1

239
+ 176 arctan 1

293
+ 44 arctan 1

616

+ 32 arctan 1

682
+ 132 arctan 1

3141
− 64 arctan 1

12943



30

π

4
= 39 arctan 1

239
+ 112 arctan 1

293
+ 64 arctan 1

307

+ 12 arctan 1

616
+ 68 arctan 1

3141
− 32 arctan 1

3323

π

4
= 27 arctan 1

239
+ 136 arctan 1

273
+ 64 arctan 1

307

− 68 arctan 1

2072
− 12 arctan 1

12238
− 24 arctan 1

58911

π

4
= 27 arctan 1

239
+ 124 arctan 1

273
+ 76 arctan 1

307

− 56 arctan 1

2072
− 12 arctan 1

5182
+ 12 arctan 1

2794602

π

4
= 27 arctan 1

239
+ 112 arctan 1

273
+ 88 arctan 1

307

− 56 arctan 1

2072
+ 12 arctan 1

4193
− 12 arctan 1

39307

π

4
= 39 arctan 1

239
+ 100 arctan 1

273
+ 88 arctan 1

307

− 56 arctan 1

2072
− 12 arctan 1

3307
− 12 arctan 1

177057



31

π

4
= 39 arctan 1

239
+ 112 arctan 1

273
+ 76 arctan 1

307

− 56 arctan 1

2072
− 24 arctan 1

2332
+ 12 arctan 1

6948

π

4
= 51 arctan 1

239
+ 88 arctan 1

273
+ 88 arctan 1

307

− 12 arctan 1

682
− 44 arctan 1

2072
+ 24 arctan 1

12943

π

4
= 27 arctan 1

239
+ 112 arctan 1

273
+ 76 arctan 1

307

+ 24 arctan 1

568
− 56 arctan 1

2072
− 12 arctan 1

19703

π

4
= 39 arctan 1

239
+ 112 arctan 1

273
+ 64 arctan 1

307

+ 12 arctan 1

515
− 56 arctan 1

2072
+ 24 arctan 1

3323

π

4
= 51 arctan 1

239
+ 88 arctan 1

269
+ 88 arctan 1

477

+ 32 arctan 1

682
+ 44 arctan 1

5357
+ 68 arctan 1

12943



32

π

4
= 115 arctan 1

239
+ 68 arctan 1

268
+ 108 arctan 1

1958

+ 12 arctan 1

2928
− 64 arctan 1

7193
+ 32 arctan 1

228382

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 44 arctan 1

1958

+ 64 arctan 1

2682
+ 44 arctan 1

2928
+ 32 arctan 1

8827

π

4
= 51 arctan 1

239
+ 164 arctan 1

268
− 52 arctan 1

1568

+ 12 arctan 1

4662
− 64 arctan 1

6898
− 32 arctan 1

534568

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 44 arctan 1

1568

+ 64 arctan 1

2682
+ 44 arctan 1

4662
+ 32 arctan 1

8827

π

4
= 83 arctan 1

239
+ 132 arctan 1

268
− 64 arctan 1

1458

− 20 arctan 1

1568
− 32 arctan 1

4443
+ 44 arctan 1

4662



33

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 64 arctan 1

1432

+ 44 arctan 1

1958
+ 12 arctan 1

2928
− 32 arctan 1

5099

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 108 arctan 1

1292

− 32 arctan 1

12238
− 20 arctan 1

12943
+ 44 arctan 1

1000267

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 76 arctan 1

1282

+ 32 arctan 1

8832
+ 44 arctan 1

26337
+ 12 arctan 1

29193

π

4
= 115 arctan 1

239
+ 68 arctan 1

268
+ 44 arctan 1

905

+ 20 arctan 1

3957
− 32 arctan 1

12238
− 64 arctan 1

114483

π

4
= 115 arctan 1

239
+ 68 arctan 1

268
+ 44 arctan 1

905

− 12 arctan 1

3957
+ 32 arctan 1

6507
− 32 arctan 1

6826318



34

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 44 arctan 1

905

+ 64 arctan 1

2682
− 44 arctan 1

3957
+ 32 arctan 1

8827

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

807

+ 12 arctan 1

1568
+ 32 arctan 1

3882
+ 44 arctan 1

4662

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

767

+ 12 arctan 1

1568
+ 44 arctan 1

4662
+ 32 arctan 1

5182

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 32 arctan 1

682

+ 44 arctan 1

2307
+ 44 arctan 1

2928
− 20 arctan 1

12943

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 32 arctan 1

682

+ 44 arctan 1

1432
− 20 arctan 1

12943
+ 44 arctan 1

13043



35

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 76 arctan 1

682

− 44 arctan 1

1407
− 20 arctan 1

12943
+ 44 arctan 1

51412

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 32 arctan 1

682

+ 44 arctan 1

1282
− 20 arctan 1

12943
− 44 arctan 1

198505

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 32 arctan 1

682

+ 44 arctan 1

1087
− 44 arctan 1

6898
− 20 arctan 1

12943

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 44 arctan 1

599

+ 32 arctan 1

682
− 44 arctan 1

1118
− 20 arctan 1

12943

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

557

+ 12 arctan 1

1068
− 44 arctan 1

15449
− 44 arctan 1

51693



36

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 12 arctan 1

557

− 76 arctan 1

1068
− 44 arctan 1

6898
− 44 arctan 1

409557

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

557

− 32 arctan 1

1068
+ 44 arctan 1

1958
+ 44 arctan 1

2928

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

557

− 32 arctan 1

1068
+ 44 arctan 1

1568
+ 44 arctan 1

4662

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 56 arctan 1

557

− 32 arctan 1

1068
+ 44 arctan 1

1432
+ 44 arctan 1

75382

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 12 arctan 1

557

− 32 arctan 1

1068
− 44 arctan 1

1118
− 44 arctan 1

5283



37

π

4
= 83 arctan 1

239
+ 100 arctan 1

268
+ 32 arctan 1

557

+ 44 arctan 1

905
− 32 arctan 1

1068
− 44 arctan 1

3957

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 12 arctan 1

557

− 44 arctan 1

863
− 32 arctan 1

1068
+ 44 arctan 1

13332

π

4
= 77 arctan 1

239
+ 138 arctan 1

268
− 26 arctan 1

463

+ 32 arctan 1

5604
− 64 arctan 1

51693
− 6 arctan 1

390112

π

4
= 61 arctan 1

239
+ 122 arctan 1

268
+ 22 arctan 1

463

+ 64 arctan 1

2682
+ 32 arctan 1

8827
− 22 arctan 1

390112

π

4
= 61 arctan 1

239
+ 122 arctan 1

268
+ 22 arctan 1

463

+ 32 arctan 1

557
− 32 arctan 1

1068
− 22 arctan 1

390112



38

π

4
= 83 arctan 1

239
+ 132 arctan 1

268
− 32 arctan 1

443

+ 12 arctan 1

1568
+ 44 arctan 1

4662
+ 32 arctan 1

43932

π

4
= 83 arctan 1

239
+ 112 arctan 1

268
+ 20 arctan 1

421

− 44 arctan 1

1985
− 32 arctan 1

4443
+ 64 arctan 1

30857

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 44 arctan 1

421

− 44 arctan 1

1985
+ 64 arctan 1

2682
+ 32 arctan 1

8827

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 44 arctan 1

421

+ 32 arctan 1

557
− 32 arctan 1

1068
− 44 arctan 1

1985

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 56 arctan 1

395

− 64 arctan 1

2943
− 32 arctan 1

8783
− 44 arctan 1

37107



39

π

4
= 39 arctan 1

239
+ 100 arctan 1

268
+ 88 arctan 1

395

+ 64 arctan 1

2682
+ 32 arctan 1

8827
− 44 arctan 1

37107

π

4
= 7 arctan 1

239
+ 132 arctan 1

268
+ 88 arctan 1

395

+ 32 arctan 1

682
− 64 arctan 1

12943
− 44 arctan 1

37107

π

4
= 39 arctan 1

239
+ 100 arctan 1

268
+ 88 arctan 1

395

+ 32 arctan 1

557
− 32 arctan 1

1068
− 44 arctan 1

37107

π

4
= 115 arctan 1

239
+ 144 arctan 1

268
− 76 arctan 1

378

− 108 arctan 1

2943
+ 44 arctan 1

14318
+ 44 arctan 1

27493

π

4
= 93 arctan 1

239
+ 100 arctan 1

268
+ 12 arctan 1

378

− 42 arctan 1

2943
+ 44 arctan 1

7535
− 22 arctan 1

131168



40

π

4
= 115 arctan 1

239
+ 100 arctan 1

268
− 32 arctan 1

378

− 20 arctan 1

2943
+ 88 arctan 1

4662
+ 44 arctan 1

11981

π

4
= 115 arctan 1

239
+ 100 arctan 1

268
− 32 arctan 1

378

+ 44 arctan 1

1958
+ 44 arctan 1

2928
− 64 arctan 1

2943

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 12 arctan 1

378

+ 44 arctan 1

565
− 20 arctan 1

2943
+ 44 arctan 1

3557

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 12 arctan 1

378

+ 44 arctan 1

483
− 20 arctan 1

2943
− 44 arctan 1

51693

π

4
= 115 arctan 1

239
+ 144 arctan 1

268
− 32 arctan 1

378

− 44 arctan 1

421
− 44 arctan 1

1985
− 64 arctan 1

2943



41

π

4
= 83 arctan 1

239
+ 144 arctan 1

268
− 44 arctan 1

343

+ 64 arctan 1

2682
+ 32 arctan 1

8827
+ 44 arctan 1

27493

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 24 arctan 1

327

+ 52 arctan 1

1432
+ 20 arctan 1

2621
− 32 arctan 1

14942

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 24 arctan 1

327

+ 20 arctan 1

1252
+ 32 arctan 1

2855
+ 52 arctan 1

3557

π

4
= 51 arctan 1

239
+ 132 arctan 1

268
+ 44 arctan 1

327

− 44 arctan 1

438
+ 32 arctan 1

682
− 20 arctan 1

12943

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 44 arctan 1

327

+ 12 arctan 1

378
− 44 arctan 1

993
− 20 arctan 1

2943



42

π

4
= 51 arctan 1

239
+ 100 arctan 1

268
+ 64 arctan 1

307

− 20 arctan 1

1958
+ 12 arctan 1

2928
− 32 arctan 1

9210

π

4
= 39 arctan 1

239
+ 68 arctan 1

268
+ 120 arctan 1

307

− 12 arctan 1

795
− 56 arctan 1

13307
− 44 arctan 1

14256

π

4
= 39 arctan 1

239
+ 68 arctan 1

268
+ 64 arctan 1

307

+ 56 arctan 1

395
+ 32 arctan 1

1723
− 12 arctan 1

37107

π

4
= 71 arctan 1

239
+ 100 arctan 1

268
+ 44 arctan 1

307

+ 12 arctan 1

378
− 44 arctan 1

829
− 20 arctan 1

2943

π

4
= 51 arctan 1

239
+ 80 arctan 1

268
+ 64 arctan 1

307

+ 20 arctan 1

343
+ 32 arctan 1

5087
+ 12 arctan 1

27493



43

π

4
= 39 arctan 1

239
+ 68 arctan 1

268
+ 64 arctan 1

307

+ 56 arctan 1

327
− 12 arctan 1

882
+ 44 arctan 1

18543

π

4
= 51 arctan 1

239
+ 64 arctan 1

242
+ 68 arctan 1

268

+ 44 arctan 1

905
+ 20 arctan 1

3957
+ 32 arctan 1

219602

π

4
= 51 arctan 1

239
+ 44 arctan 1

242
+ 88 arctan 1

268

+ 32 arctan 1

682
+ 44 arctan 1

2673
− 20 arctan 1

12943

π

4
= 51 arctan 1

239
+ 64 arctan 1

242
+ 80 arctan 1

268

+ 8 arctan 1

659
− 20 arctan 1

6443
+ 12 arctan 1

1610057

π

4
= 51 arctan 1

239
+ 76 arctan 1

242
+ 68 arctan 1

268

+ 8 arctan 1

642
− 32 arctan 1

5118
− 12 arctan 1

6072



44

π

4
= 39 arctan 1

239
+ 88 arctan 1

242
+ 56 arctan 1

268

+ 32 arctan 1

557
+ 12 arctan 1

1068
− 44 arctan 1

2309

π

4
= 51 arctan 1

239
+ 64 arctan 1

242
+ 68 arctan 1

268

+ 32 arctan 1

500
− 20 arctan 1

1568
+ 12 arctan 1

4662

π

4
= 1587 arctan 1

2852
+ 295 arctan 1

4193
+ 593 arctan 1

4246

+ 359 arctan 1

39307
+ 481 arctan 1

55603
+ 625 arctan 1

211050

− 708 arctan 1

390112

π

4
= 327 arctan 1

1958
+ 481 arctan 1

2059
+ 625 arctan 1

2928

+ 449 arctan 1

2943
+ 298 arctan 1

4052
− 513 arctan 1

9193

+ 398 arctan 1

390112



45

π

4
= 1074 arctan 1

1568
+ 657 arctan 1

4662
+ 183 arctan 1

5357

− 779 arctan 1

12943
− 32 arctan 1

17923
− 449 arctan 1

32807

+ 398 arctan 1

390112

π

4
= 1106 arctan 1

1143
− 330 arctan 1

4193
− 513 arctan 1

4246

+ 481 arctan 1

34208
+ 215 arctan 1

39307
− 144 arctan 1

44179

+ 398 arctan 1

390112

π

4
= 481 arctan 1

1084
+ 295 arctan 1

4193
+ 737 arctan 1

4246

+ 625 arctan 1

6687
+ 215 arctan 1

39307
− 144 arctan 1

235318

− 227 arctan 1

390112



46

π

4
= 764 arctan 1

1068
+ 127 arctan 1

3323
+ 442 arctan 1

20457

+ 215 arctan 1

37057
+ 188 arctan 1

83247
+ 171 arctan 1

173932

+ 481 arctan 1

409557

π

4
= 581 arctan 1

993
+ 171 arctan 1

2072
+ 127 arctan 1

2633

+ 24 arctan 1

2943
+ 227 arctan 1

5593
+ 342 arctan 1

16432

− 100 arctan 1

6826318

π

4
= 327 arctan 1

905
+ 298 arctan 1

1057
+ 183 arctan 1

2059

+ 151 arctan 1

2943
− 29 arctan 1

3957
+ 83 arctan 1

9193

+ 100 arctan 1

390112



47

π

4
= 144 arctan 1

905
+ 481 arctan 1

948
+ 337 arctan 1

3957

+ 151 arctan 1

4193
− 32 arctan 1

4246
+ 215 arctan 1

39307

− 83 arctan 1

390112

π

4
= 537 arctan 1

882
+ 581 arctan 1

2917
− 322 arctan 1

9466

+ 371 arctan 1

12943
− 171 arctan 1

19703
− 266 arctan 1

32807

− 76 arctan 1

157318

π

4
= 625 arctan 1

837
+ 183 arctan 1

2059
− 176 arctan 1

2943

+ 83 arctan 1

9193
− 29 arctan 1

247057
+ 100 arctan 1

390112

+ 327 arctan 1

740943



48

π

4
= 625 arctan 1

829
− 144 arctan 1

2059
+ 151 arctan 1

4193

+ 112 arctan 1

9193
+ 449 arctan 1

9872
+ 327 arctan 1

39307

− 227 arctan 1

390112

π

4
= 625 arctan 1

811
+ 183 arctan 1

2059
− 176 arctan 1

2943

− 244 arctan 1

9193
+ 356 arctan 1

29193
+ 100 arctan 1

390112

− 327 arctan 1

1366849

π

4
= 481 arctan 1

798
+ 625 arctan 1

3141
+ 144 arctan 1

3323

− 330 arctan 1

4193
+ 112 arctan 1

4246
− 266 arctan 1

39307

− 227 arctan 1

390112



49

π

4
= 481 arctan 1

795
+ 295 arctan 1

4193
+ 256 arctan 1

4246

+ 625 arctan 1

13307
+ 144 arctan 1

14256
− 266 arctan 1

39307

− 227 arctan 1

390112

π

4
= 283 arctan 1

788
+ 342 arctan 1

837
+ 7 arctan 1

2943

+ 83 arctan 1

5503
+ 71 arctan 1

247057
− 100 arctan 1

352618

+ 144 arctan 1

740943

π

4
= 210 arctan 1

771
+ 242 arctan 1

882
+ 190 arctan 1

1168

+ 95 arctan 1

1393
+ 66 arctan 1

6948
− 76 arctan 1

45368

− 132 arctan 1

2947340



50

π

4
= 359 arctan 1

757
+ 122 arctan 1

813
+ 200 arctan 1

1068

− 105 arctan 1

3112
+ 83 arctan 1

12238
+ 44 arctan 1

58911

+ 132 arctan 1

3139557

π

4
= 537 arctan 1

746
+ 44 arctan 1

5357
+ 259 arctan 1

5507

+ 156 arctan 1

12943
− 171 arctan 1

17923
+ 227 arctan 1

32807

+ 139 arctan 1

157318

π

4
= 537 arctan 1

746
+ 44 arctan 1

2621
+ 371 arctan 1

12943

+ 215 arctan 1

14942
+ 271 arctan 1

32807
− 171 arctan 1

83071

− 76 arctan 1

157318



51

π

4
= 537 arctan 1

746
+ 44 arctan 1

1992
+ 171 arctan 1

9222

+ 371 arctan 1

12943
− 215 arctan 1

16693
+ 271 arctan 1

32807

+ 139 arctan 1

157318

π

4
= 322 arctan 1

746
+ 215 arctan 1

1393
+ 474 arctan 1

2547

+ 156 arctan 1

12943
+ 56 arctan 1

32807
− 76 arctan 1

157318

+ 44 arctan 1

1049433

π

4
= 266 arctan 1

746
+ 215 arctan 1

1067
+ 327 arctan 1

1568

+ 144 arctan 1

4662
− 115 arctan 1

13918
− 100 arctan 1

27493

− 32 arctan 1

157318



52

π

4
= 266 arctan 1

746
+ 271 arctan 1

882
+ 315 arctan 1

2621

− 56 arctan 1

14942
− 171 arctan 1

19703
+ 371 arctan 1

25943

− 76 arctan 1

157318

π

4
= 266 arctan 1

746
+ 215 arctan 1

882
+ 427 arctan 1

1568

− 371 arctan 1

6107
− 315 arctan 1

18543
− 171 arctan 1

19703

− 132 arctan 1

157318

π

4
= 398 arctan 1

743
+ 139 arctan 1

1393
+ 322 arctan 1

2153

+ 76 arctan 1

8307
− 166 arctan 1

12943
+ 132 arctan 1

32807

+ 44 arctan 1

1049433



53

π

4
= 266 arctan 1

743
+ 271 arctan 1

882
+ 315 arctan 1

2917

+ 171 arctan 1

8307
− 227 arctan 1

9466
+ 200 arctan 1

12943

+ 95 arctan 1

1059193

π

4
= 2192 arctan 1

5357
+ 2097 arctan 1

5507
− 227 arctan 1

9466

+ 832 arctan 1

12943
+ 537 arctan 1

34522
− 2287 arctan 1

39307

− 171 arctan 1

106007
− 708 arctan 1

1115618

π

4
= 1484 arctan 1

5118
+ 708 arctan 1

6072
+ 2380 arctan 1

6807

+ 974 arctan 1

34208
+ 254 arctan 1

44179
− 68 arctan 1

86432

− 991 arctan 1

275807
− 398 arctan 1

619858



54

π

4
= 1882 arctan 1

5118
+ 1106 arctan 1

6072
+ 2507 arctan 1

6118

− 1465 arctan 1

9193
+ 144 arctan 1

41688
− 449 arctan 1

52489

− 779 arctan 1

72093
+ 398 arctan 1

390112

π

4
= 2805 arctan 1

4662
+ 1257 arctan 1

5357
− 779 arctan 1

12943

+ 1042 arctan 1

17923
− 2597 arctan 1

32807
+ 2148 arctan 1

83270

+ 1472 arctan 1

390112
+ 1074 arctan 1

1493208

π

4
= 2363 arctan 1

4557
+ 1218 arctan 1

5507
+ 1850 arctan 1

18543

− 266 arctan 1

39307
− 2658 arctan 1

49457
+ 1257 arctan 1

123093

− 1484 arctan 1

390112
+ 481 arctan 1

27872057



55

π

4
= 2805 arctan 1

4246
+ 1257 arctan 1

5357
− 1106 arctan 1

12238

+ 295 arctan 1

12943
− 417 arctan 1

39307
− 1731 arctan 1

58911

− 708 arctan 1

390112
− 481 arctan 1

1000267

π

4
= 1074 arctan 1

4246
+ 1257 arctan 1

5357
+ 1731 arctan 1

6107

+ 295 arctan 1

12943
+ 625 arctan 1

19703
− 481 arctan 1

32807

− 1042 arctan 1

39307
+ 398 arctan 1

390112

π

4
= 1074 arctan 1

4246
+ 1882 arctan 1

5357
+ 1106 arctan 1

5604

+ 920 arctan 1

12943
− 2148 arctan 1

39307
− 1731 arctan 1

51693

+ 398 arctan 1

390112
− 481 arctan 1

2544482



56

π

4
= 593 arctan 1

4246
+ 1882 arctan 1

5118
+ 1106 arctan 1

6072

+ 2363 arctan 1

34208
− 144 arctan 1

44179
+ 991 arctan 1

72093

+ 1321 arctan 1

86432
+ 398 arctan 1

390112

π

4
= 1699 arctan 1

4246
+ 1882 arctan 1

5005
− 625 arctan 1

34208

+ 215 arctan 1

39307
− 330 arctan 1

39568
+ 962 arctan 1

44179

+ 776 arctan 1

74518
− 708 arctan 1

390112

π

4
= 3286 arctan 1

4246
+ 295 arctan 1

4443
− 625 arctan 1

12238

+ 840 arctan 1

39307
− 2212 arctan 1

58911
+ 776 arctan 1

74518

+ 962 arctan 1

256781
− 708 arctan 1

390112



57

π

4
= 1699 arctan 1

4246
+ 295 arctan 1

4443
+ 1587 arctan 1

8377

+ 962 arctan 1

9703
+ 840 arctan 1

39307
+ 776 arctan 1

74518

− 708 arctan 1

390112
+ 625 arctan 1

2087321

π

4
= 776 arctan 1

4193
+ 4504 arctan 1

10842
+ 3286 arctan 1

34208

+ 3020 arctan 1

39307
+ 962 arctan 1

44179
− 1699 arctan 1

275807

− 708 arctan 1

390112
− 1106 arctan 1

619858

π

4
= 1711 arctan 1

4193
+ 3115 arctan 1

9872
+ 1775 arctan 1

39307

+ 764 arctan 1

52489
+ 625 arctan 1

211050
− 227 arctan 1

243092

− 171 arctan 1

6823393
+ 879 arctan 1

10600764



58

π

4
= 776 arctan 1

4193
+ 2805 arctan 1

6107
+ 1699 arctan 1

19703

+ 481 arctan 1

34208
+ 215 arctan 1

39307
+ 1555 arctan 1

44179

+ 398 arctan 1

390112
− 593 arctan 1

617427

π

4
= 295 arctan 1

4193
+ 3767 arctan 1

5507
+ 593 arctan 1

18543

− 1228 arctan 1

39307
+ 2068 arctan 1

55603
− 962 arctan 1

211050

− 708 arctan 1

390112
− 1587 arctan 1

2867938

π

4
= 1645 arctan 1

4193
+ 2002 arctan 1

5357
+ 415 arctan 1

9466

− 171 arctan 1

17923
− 813 arctan 1

27823
+ 537 arctan 1

34522

− 1350 arctan 1

1115618
− 1455 arctan 1

22709274



59

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4373
+ 1106 arctan 1

5807

+ 481 arctan 1

34208
+ 215 arctan 1

39307
− 144 arctan 1

44179

+ 593 arctan 1

233839
+ 991 arctan 1

390112

π

4
= 1882 arctan 1

4193
+ 593 arctan 1

4246
+ 1587 arctan 1

34208

+ 3533 arctan 1

39307
+ 3174 arctan 1

44179
− 1106 arctan 1

55603

+ 2212 arctan 1

211050
− 708 arctan 1

390112

π

4
= 1882 arctan 1

4193
+ 1699 arctan 1

4246
− 1106 arctan 1

32318

− 625 arctan 1

34208
− 891 arctan 1

39307
− 144 arctan 1

44179

+ 1106 arctan 1

66432
− 708 arctan 1

390112



60

π

4
= 1882 arctan 1

4193
+ 2180 arctan 1

4246
− 3174 arctan 1

25368

− 1228 arctan 1

39307
− 1106 arctan 1

55603
− 962 arctan 1

211050

+ 1587 arctan 1

275807
− 708 arctan 1

390112

π

4
= 776 arctan 1

4193
+ 2180 arctan 1

4246
+ 1106 arctan 1

13637

+ 144 arctan 1

14633
− 266 arctan 1

39307
+ 1587 arctan 1

275807

− 708 arctan 1

390112
− 962 arctan 1

793632

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4246
+ 1587 arctan 1

13307

+ 1106 arctan 1

14256
+ 215 arctan 1

39307
− 708 arctan 1

390112

− 481 arctan 1

1263257
+ 481 arctan 1

6826318



61

π

4
= 295 arctan 1

4193
+ 2180 arctan 1

4246
+ 1587 arctan 1

13307

+ 1587 arctan 1

14256
− 1228 arctan 1

39307
+ 481 arctan 1

55603

− 962 arctan 1

211050
− 708 arctan 1

390112

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4246
+ 1106 arctan 1

13307

+ 1106 arctan 1

14256
+ 481 arctan 1

34208
+ 215 arctan 1

39307

+ 962 arctan 1

44179
− 708 arctan 1

390112

π

4
= 1257 arctan 1

4193
+ 1699 arctan 1

4246
+ 1106 arctan 1

13307

+ 625 arctan 1

14256
− 962 arctan 1

29193
− 266 arctan 1

39307

− 708 arctan 1

390112
+ 481 arctan 1

9361318



62

π

4
= 295 arctan 1

4193
+ 3767 arctan 1

4246
− 1587 arctan 1

12238

+ 359 arctan 1

39307
+ 481 arctan 1

55603
− 3174 arctan 1

58911

− 962 arctan 1

211050
− 708 arctan 1

390112

π

4
= 776 arctan 1

4193
+ 2805 arctan 1

4246
− 1106 arctan 1

12238

+ 481 arctan 1

34208
+ 1321 arctan 1

39307
+ 962 arctan 1

44179

− 2212 arctan 1

58911
− 708 arctan 1

390112

π

4
= 295 arctan 1

4193
+ 2180 arctan 1

4246
+ 1587 arctan 1

9703

+ 359 arctan 1

39307
+ 481 arctan 1

55603
+ 1587 arctan 1

82957

+ 625 arctan 1

211050
− 708 arctan 1

390112



63

π

4
= 1738 arctan 1

4193
+ 2180 arctan 1

4246
− 818 arctan 1

7093

− 962 arctan 1

38280
− 266 arctan 1

39307
+ 1587 arctan 1

275807

− 708 arctan 1

390112
+ 1106 arctan 1

1460857

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4246
+ 1106 arctan 1

6948

+ 1587 arctan 1

34208
+ 1321 arctan 1

39307
− 1250 arctan 1

44179

− 2212 arctan 1

188703
+ 398 arctan 1

390112

π

4
= 295 arctan 1

4193
+ 2180 arctan 1

4246
+ 1587 arctan 1

6687

− 1228 arctan 1

39307
+ 481 arctan 1

55603
− 962 arctan 1

211050

− 1587 arctan 1

235318
− 708 arctan 1

390112



64

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4246
+ 1106 arctan 1

6687

+ 481 arctan 1

34208
+ 215 arctan 1

39307
+ 962 arctan 1

44179

− 1106 arctan 1

235318
− 708 arctan 1

390112

π

4
= 1738 arctan 1

4193
+ 1699 arctan 1

4246
+ 144 arctan 1

6687

− 1443 arctan 1

32318
− 266 arctan 1

39307
+ 337 arctan 1

235318

− 227 arctan 1

390112
− 481 arctan 1

2282363

π

4
= 776 arctan 1

4193
+ 1699 arctan 1

4246
+ 1106 arctan 1

6687

+ 481 arctan 1

8827
− 266 arctan 1

39307
− 962 arctan 1

81943

− 144 arctan 1

235318
− 227 arctan 1

390112



65

π

4
= 295 arctan 1

4193
+ 593 arctan 1

4246
+ 3174 arctan 1

6107

+ 1587 arctan 1

19703
− 1228 arctan 1

39307
+ 481 arctan 1

55603

− 962 arctan 1

211050
+ 879 arctan 1

390112

π

4
= 776 arctan 1

4193
+ 593 arctan 1

4246
+ 2212 arctan 1

5701

+ 481 arctan 1

34208
+ 1321 arctan 1

39307
+ 962 arctan 1

44179

+ 1106 arctan 1

219602
− 708 arctan 1

390112

−π

4
= 330 arctan 1

4193
− 1699 arctan 1

4246
− 2212 arctan 1

5648

− 1587 arctan 1

34208
− 215 arctan 1

39307
+ 144 arctan 1

44179

− 1106 arctan 1

48737
− 398 arctan 1

390112



66

π

4
= 1882 arctan 1

4193
+ 1074 arctan 1

4246
+ 625 arctan 1

5604

+ 215 arctan 1

39307
− 1731 arctan 1

51693
+ 398 arctan 1

390112

− 481 arctan 1

485443
+ 481 arctan 1

6826318

π

4
= 1882 arctan 1

4193
+ 593 arctan 1

4246
+ 1587 arctan 1

5604

− 1228 arctan 1

39307
− 3174 arctan 1

51693
+ 481 arctan 1

55603

− 962 arctan 1

211050
+ 879 arctan 1

390112

π

4
= 1882 arctan 1

4193
+ 593 arctan 1

4246
+ 1106 arctan 1

5604

+ 481 arctan 1

34208
+ 215 arctan 1

39307
− 1250 arctan 1

51693

+ 962 arctan 1

303932
+ 398 arctan 1

390112



67

π

4
= 1587 arctan 1

4052
+ 295 arctan 1

4193
+ 593 arctan 1

4246

+ 1587 arctan 1

9210
+ 359 arctan 1

39307
+ 481 arctan 1

55603

− 962 arctan 1

211050
− 708 arctan 1

390112

π

4
= 625 arctan 1

4052
+ 295 arctan 1

4193
+ 1555 arctan 1

4246

+ 1587 arctan 1

9210
+ 481 arctan 1

37107
+ 359 arctan 1

39307

+ 962 arctan 1

299655
− 1189 arctan 1

390112

π

4
= 1106 arctan 1

4052
+ 776 arctan 1

4193
+ 593 arctan 1

4246

+ 1106 arctan 1

9210
+ 481 arctan 1

34208
+ 1321 arctan 1

39307

+ 962 arctan 1

44179
− 708 arctan 1

390112



68

π

4
= 553 arctan 1

4005
+ 1329 arctan 1

4193
+ 1146 arctan 1

4246

+ 1034 arctan 1

34208
+ 768 arctan 1

39307
+ 409 arctan 1

44179

− 155 arctan 1

390112
+ 1106 arctan 1

602057

π

4
= 3286 arctan 1

34208
+ 9852 arctan 1

39307
+ 5280 arctan 1

41688

+ 7794 arctan 1

44179
+ 7608 arctan 1

60443
+ 4357 arctan 1

275807

− 1484 arctan 1

390112
− 1882 arctan 1

619858
+ 776 arctan 1

976283

π

4
= 6832 arctan 1

25368
+ 4062 arctan 1

34208
+ 9076 arctan 1

39307

+ 6242 arctan 1

44179
+ 776 arctan 1

55603
+ 5280 arctan 1

211050

− 2475 arctan 1

275807
− 708 arctan 1

390112
− 1882 arctan 1

619858



69

π

4
= 9012 arctan 1

18543
+ 6896 arctan 1

39307
− 295 arctan 1

49457

+ 2363 arctan 1

55603
+ 8419 arctan 1

123093
+ 7162 arctan 1

211050

− 5065 arctan 1

390112
− 5944 arctan 1

2867938
+ 4062 arctan 1

27872057

π

4
= 9852 arctan 1

17298
+ 5546 arctan 1

34208
+ 776 arctan 1

38280

+ 1738 arctan 1

44179
+ 708 arctan 1

172078
− 5988 arctan 1

219602

+ 2029 arctan 1

275807
+ 2622 arctan 1

619858
+ 8300 arctan 1

1460857

π

4
= 5280 arctan 1

15789
+ 4838 arctan 1

34208
+ 3796 arctan 1

39307

+ 6832 arctan 1

39568
+ 962 arctan 1

44179
+ 776 arctan 1

74518

+ 3581 arctan 1

275807
− 708 arctan 1

390112
− 1882 arctan 1

619858



70

π

4
= 2917 arctan 1

15179
+ 6935 arctan 1

16432
+ 3222 arctan 1

28800

+ 1106 arctan 1

57532
+ 5614 arctan 1

167318
+ 3903 arctan 1

664373

+ 859 arctan 1

1048768
− 398 arctan 1

3036182
− 227 arctan 1

7042807

π

4
= 4062 arctan 1

14942
+ 4655 arctan 1

18543
+ 295 arctan 1

25943

+ 4357 arctan 1

32729
+ 2539 arctan 1

39307
+ 2363 arctan 1

55603

+ 2805 arctan 1

211050
− 708 arctan 1

390112
− 1587 arctan 1

2867938

π

4
= 7047 arctan 1

14318
+ 5678 arctan 1

21042
− 283 arctan 1

27493

+ 1257 arctan 1

34208
+ 2690 arctan 1

34522
− 3825 arctan 1

44179

− 1767 arctan 1

298307
+ 3796 arctan 1

325057
− 4572 arctan 1

27005643



71

π

4
= 1106 arctan 1

13637
+ 3876 arctan 1

14633
+ 5912 arctan 1

15179

+ 2180 arctan 1

16432
− 3222 arctan 1

39307
+ 2363 arctan 1

275807

− 776 arctan 1

328173
− 1484 arctan 1

390112
− 2514 arctan 1

793632

π

4
= 6537 arctan 1

13307
+ 1106 arctan 1

14256
+ 5431 arctan 1

19384

− 3222 arctan 1

39307
+ 3251 arctan 1

167318
− 1257 arctan 1

333367

− 708 arctan 1

390112
+ 2956 arctan 1

664373
+ 481 arctan 1

7042807

π

4
= 7162 arctan 1

12943
+ 3796 arctan 1

32807
+ 2558 arctan 1

34208

+ 2729 arctan 1

44179
− 708 arctan 1

51387
+ 2192 arctan 1

114669

− 2805 arctan 1

157318
− 3696 arctan 1

485298
− 2407 arctan 1

24208144



72

π

4
= 2026 arctan 1

12943
+ 11712 arctan 1

30383
+ 7643 arctan 1

32807

+ 1699 arctan 1

51387
− 4062 arctan 1

114669
+ 1042 arctan 1

157318

+ 2729 arctan 1

390112
+ 1289 arctan 1

1984933
− 5136 arctan 1

3449051

π

4
= 4357 arctan 1

12943
+ 1699 arctan 1

19703
+ 3581 arctan 1

32807

+ 4062 arctan 1

34208
+ 3020 arctan 1

39307
+ 2331 arctan 1

44179

+ 398 arctan 1

390112
+ 2988 arctan 1

617427
− 2805 arctan 1

3449051

π

4
= 2026 arctan 1

12943
+ 7909 arctan 1

17923
+ 5502 arctan 1

30383

− 266 arctan 1

32807
+ 1074 arctan 1

41187
− 1731 arctan 1

157318

+ 1655 arctan 1

390112
− 5136 arctan 1

1049433
+ 4062 arctan 1

21638297



73

π

4
= 4755 arctan 1

12943
+ 3847 arctan 1

13252
− 632 arctan 1

28322

+ 3664 arctan 1

30001
+ 808 arctan 1

51412
+ 3386 arctan 1

247057

− 1074 arctan 1

395413
+ 676 arctan 1

740943
+ 2407 arctan 1

8296072

π

4
= 2026 arctan 1

12943
+ 3847 arctan 1

13043
+ 4062 arctan 1

14942

+ 2729 arctan 1

21059
− 1340 arctan 1

32807
− 215 arctan 1

83071

− 581 arctan 1

83270
− 2805 arctan 1

157318
+ 1074 arctan 1

1493208

π

4
= 2363 arctan 1

12438
+ 5575 arctan 1

15933
+ 5136 arctan 1

18543

− 1042 arctan 1

39307
− 481 arctan 1

39818
+ 2873 arctan 1

390112

+ 776 arctan 1

513443
− 4062 arctan 1

2298668
+ 3581 arctan 1

227661182



74

π

4
= 2475 arctan 1

12238
+ 4357 arctan 1

13443
+ 3286 arctan 1

34208

+ 4902 arctan 1

39307
+ 3767 arctan 1

44179
− 2988 arctan 1

58911

+ 2097 arctan 1

390112
− 3581 arctan 1

2163127
+ 2805 arctan 1

201229582

π

4
= 2475 arctan 1

12238
+ 4357 arctan 1

13443
+ 3767 arctan 1

30997

+ 4421 arctan 1

39307
+ 481 arctan 1

55603
+ 298 arctan 1

58911

+ 2805 arctan 1

211050
− 708 arctan 1

390112
− 295 arctan 1

2163127

π

4
= 3183 arctan 1

12238
+ 4838 arctan 1

13443
+ 2097 arctan 1

20457

+ 1870 arctan 1

37057
− 891 arctan 1

58911
+ 1843 arctan 1

83247

+ 935 arctan 1

173932
+ 481 arctan 1

409557
− 2419 arctan 1

2163127



75

π

4
= 2956 arctan 1

12238
+ 4062 arctan 1

13307
+ 3581 arctan 1

14256

+ 295 arctan 1

29193
− 3222 arctan 1

39307
+ 4655 arctan 1

58911

− 1257 arctan 1

69915
− 708 arctan 1

390112
+ 481 arctan 1

9361318

π

4
= 2773 arctan 1

12238
+ 1186 arctan 1

12943
+ 8073 arctan 1

17298

+ 183 arctan 1

38280
+ 2331 arctan 1

114483
− 2622 arctan 1

129553

− 1914 arctan 1

172078
+ 3215 arctan 1

1000267
+ 5085 arctan 1

1460857

π

4
= 9852 arctan 1

12023
− 4306 arctan 1

34208
+ 2514 arctan 1

51693

+ 1484 arctan 1

172078
+ 3088 arctan 1

219602
+ 3581 arctan 1

275807

+ 962 arctan 1

303932
− 776 arctan 1

329365
+ 4174 arctan 1

619858



76

π

4
= 9852 arctan 1

12023
+ 776 arctan 1

32318
− 4306 arctan 1

34208

+ 1738 arctan 1

44179
− 776 arctan 1

66432
+ 708 arctan 1

172078

+ 3864 arctan 1

219602
+ 3581 arctan 1

275807
+ 3398 arctan 1

619858

π

4
= 6896 arctan 1

12023
+ 3476 arctan 1

18543
+ 1218 arctan 1

19703

− 1870 arctan 1

39818
+ 776 arctan 1

157318
− 1660 arctan 1

160590

+ 266 arctan 1

172078
+ 3581 arctan 1

275807
+ 908 arctan 1

2298668

π

4
= 9076 arctan 1

12023
+ 776 arctan 1

12943
− 3530 arctan 1

34208

+ 1738 arctan 1

44179
+ 708 arctan 1

172078
+ 3088 arctan 1

219602

+ 2805 arctan 1

275807
+ 3398 arctan 1

619858
+ 776 arctan 1

1336743



77

π

4
= 3808 arctan 1

12023
+ 2180 arctan 1

12238
+ 3422 arctan 1

17298

+ 776 arctan 1

38280
+ 2622 arctan 1

58911
+ 1738 arctan 1

114483

+ 708 arctan 1

172078
+ 2029 arctan 1

275807
+ 1870 arctan 1

1460857

π

4
= 3032 arctan 1

12023
+ 2956 arctan 1

12238
+ 3422 arctan 1

13443

+ 2622 arctan 1

58911
− 908 arctan 1

114483
− 1870 arctan 1

139693

+ 708 arctan 1

172078
+ 2805 arctan 1

275807
− 776 arctan 1

2163127

π

4
= 4572 arctan 1

11981
+ 5280 arctan 1

19703
+ 3449 arctan 1

34208

+ 1738 arctan 1

44179
− 378 arctan 1

99557
− 215 arctan 1

108090

+ 613 arctan 1

798097
+ 2407 arctan 1

1935182
− 2590 arctan 1

4497709



78

π

4
= 4357 arctan 1

11981
+ 2475 arctan 1

19703
+ 4062 arctan 1

34208

+ 3020 arctan 1

39307
+ 2805 arctan 1

41688
+ 1555 arctan 1

44179

− 776 arctan 1

99557
+ 398 arctan 1

390112
+ 2988 arctan 1

617427

π

4
= 5431 arctan 1

11981
+ 2212 arctan 1

12227
+ 4325 arctan 1

19703

− 2116 arctan 1

39307
− 1074 arctan 1

167318
− 1257 arctan 1

333367

+ 398 arctan 1

390112
− 3581 arctan 1

664373
+ 481 arctan 1

7042807

π

4
= 4838 arctan 1

11269
+ 5280 arctan 1

20457
+ 3183 arctan 1

27823

− 1655 arctan 1

34522
+ 1870 arctan 1

37057
− 2995 arctan 1

83247

+ 935 arctan 1

173932
+ 481 arctan 1

409557
+ 5602 arctan 1

534568



79

π

4
= 6056 arctan 1

10842
+ 3796 arctan 1

39307
+ 5024 arctan 1

44179

+ 4838 arctan 1

167318
− 2475 arctan 1

275807
− 776 arctan 1

333367

− 708 arctan 1

390112
− 1106 arctan 1

619858
+ 4062 arctan 1

1610057

π

4
= 6056 arctan 1

10842
+ 4062 arctan 1

34208
+ 4758 arctan 1

44179

− 2475 arctan 1

275807
+ 4572 arctan 1

338746
− 708 arctan 1

390112

+ 776 arctan 1

610443
− 1882 arctan 1

619858
− 3796 arctan 1

6826318

π

4
= 6056 arctan 1

10842
+ 4062 arctan 1

34208
+ 3796 arctan 1

39307

+ 962 arctan 1

44179
+ 776 arctan 1

139693
− 2475 arctan 1

275807

− 1484 arctan 1

390112
− 1882 arctan 1

619858
− 776 arctan 1

201229582



80

π

4
= 5280 arctan 1

10842
+ 4838 arctan 1

34208
+ 776 arctan 1

38280

+ 4572 arctan 1

39307
+ 1738 arctan 1

44179
− 3251 arctan 1

275807

− 708 arctan 1

390112
− 2658 arctan 1

619858
− 1552 arctan 1

1460857

π

4
= 5280 arctan 1

10842
+ 776 arctan 1

32318
+ 4838 arctan 1

34208

+ 4572 arctan 1

39307
+ 1738 arctan 1

44179
− 776 arctan 1

66432

− 1699 arctan 1

275807
− 708 arctan 1

390112
− 1882 arctan 1

619858

π

4
= 6056 arctan 1

10842
− 776 arctan 1

20057
+ 4838 arctan 1

34208

+ 4572 arctan 1

39307
+ 962 arctan 1

44179
− 2475 arctan 1

275807

− 708 arctan 1

390112
− 1882 arctan 1

619858
− 776 arctan 1

4433307



81

π

4
= 6537 arctan 1

10833
+ 3315 arctan 1

20457
+ 1106 arctan 1

57532

+ 3620 arctan 1

93020
− 3713 arctan 1

143382
− 1321 arctan 1

167318

− 3430 arctan 1

664373
+ 859 arctan 1

1048768
− 625 arctan 1

7042807

π

4
= 1699 arctan 1

10481
+ 4357 arctan 1

12943
+ 2312 arctan 1

20457

+ 1750 arctan 1

34208
+ 5319 arctan 1

44179
+ 95 arctan 1

262433

+ 4504 arctan 1

2146152
− 2590 arctan 1

7082943
− 215 arctan 1

173691877

π

4
= 2690 arctan 1

10304
+ 4655 arctan 1

13637
+ 2180 arctan 1

16432

+ 1186 arctan 1

34718
− 327 arctan 1

286057
+ 2773 arctan 1

328173

+ 2065 arctan 1

390112
+ 3398 arctan 1

793632
− 3222 arctan 1

4433307



82

π

4
= 4357 arctan 1

10213
+ 4360 arctan 1

18543
+ 2539 arctan 1

39307

+ 295 arctan 1

39818
+ 2363 arctan 1

55603
+ 2805 arctan 1

211050

− 708 arctan 1

390112
− 4062 arctan 1

2298668
− 1587 arctan 1

2867938


